iEHBLETEEH®

SATELLITE DISH 35CM
ENGLISH

Table+Selftap screw

L Type Rod
Ad just+Fix plate
on Table

Hondrail Hondrail

Vertical position Horizontal position

18 Extention rod |

17 (=) Base 1

16 & |LNBF Arm 1

15 €D Reflector w/Bracket 1

10 | @Quue  [1/47%2" drill self screw 1

9 | />~ |L Type Rod Adjust 1

8 3 Plug 1

Sloctic Box 7 @ M6*35 Hex-head cap screw W/W| 1

6 @ M8 Knob nut 1

24] & |Tool box cover 1 ][ 5] > [Me*W38 U Bolt 1
23 s Screw kit 1 4 D=7 M6 Wing nut 3
22 COMPASS 1 3 & M6 knob bolt 3
2 21 W 40mm LNBF Clamp 1 2 M8 Knob nut 1
20 4 40mm LNBF Clamp Holder | 1 1 @ == | ¢4¥6L self—drillng screw(eco-syn)| 2
19 &y Fix plate 1 NO. ITEM DESCRIPTION QTY




iEHBLETEEH®

CZASZA CABLETECH 35CM
POLSKI

SAMOCHOD

STOL

Stot + wkret
Pret L + Pret
+ Ptytka + St6t
PORECZ PIONOWA PORECZ POZIOMA

18 Pret 1

17 = Podstawa 1

16 «= | Ramie LNBF 1

5] €D Czasza 1

0] ommm | 1/4"2"Wkrety 1

9 | /o | PretL 1

8 N Zaslepka 1

¢

budetko 7 @@fﬂm M6*35 Sruba 1

6 y M8 Sruba 1

24 & Pudetko na sruby 1 5 7D M6*W38 Uchwyt U 1

23 -y Zestaw s$rub 1 4 D= M6 Nakretka 3

22 &) Kompas 1 3 VS M6 Sruba 3

21 ) 40mm LNBF klamra 1 2 M8 Sruba 1

20 40mm LNBF klamra 1 1 ® = | ¢ 4*16L Wktet 2
19 Ptytka 1 NR.| POZYCJA OPIS ILOSC




